EMRUBEH EOBREILDBE R
TR RR (—)

(FFM2FE4A1BHE)

e e 2ES B OBR

F BRELORB £ (N) (N) (%) EX B
= 80
18 |BEW-RIEMEBLZITOBE (B8 15
BER(ES) 5

FiE 58| 172 36.9% — A ER e
\ FEEIME 10
2% |EEDOBE Py 1
BER(XE) 3
& 38
B EE 3

3k | EEDOBH FEERIRE 1| 48 10.3% 1EERAE
FEAE 1
BERER) 5
RE 56
ERmE 8
REEER 3
FEEE 36

4% |[BREXEEEEEOBHE FEEERME 1 117 25.1% BERAE
FEFEFHRERLT 1
FEHF(EEEE) 1
BT (FFx3RE) 6
BIAGERER) 5

FRMEIE 03 s gmEs

5% |REMEOKE EHEE 6| 66 g | BEEE
BT (FFx3RE) 7
RE 1
RETEEE 1
EE 33 38
ZR 1

6k |RROBHE & 2| 50 10.7% EIERRE
fER 2
EHRER 1
T 2
TEEETE 2
i 9
TR 1

7% |[BBREOBHE NER 1] 13 2.8% BEHE
BREBRE 1
BEZEREHBRE 1

&5t 466 100.0%




TEE AR (D)
. E B £ DB
=3 EAE L1 DR TS
¢ B2 SN (%) FRE
1% |[EERM-REMEBFFTOBE |FHEBE 4
— EHED SPGB TR 6 75.0%
28k  |BRELELILEEM-REMN |[FHBE 2 —fBEAE
EBEITOMK
3k | EEFEDBTE FEFHEBE 2 2 25.0%
a5t 8 100.0%
ER B E D ERRE
1 itf\ 7
i BREGIBS B4 TSN (%) Bt
g [EFMmmELELT pxHE |RIEE 7
TOBTE FEL 1 10 43.5% — %S AE
28k | EEDOBIE FEREAED 2
FEREE 3
FEXRET 2
31 FEDH 7 30.4% EERE R
| EROBH FERRGEL 1 e
FEBERD 1
FEEEFREA 5
4 3 6 26.1% BE R A
W EFEZTEOBTE I EEER 1 R A
=11 23 100.0%
RN R R S
N3 B 75 oD BRI
=4 AL BRTS =
B4 (AN) (AN) (%) 2413
XiEB 3
g |ERIAEmELBRET o RHBE (REL 21
I e il Ll 82.7% — R AE
EE (RIEB) 1 o RLRE
FEXIEE 4
27 E0)i%:
B | EROBH FEREL 10
FEXIES 2
3k | EEDEIE FEREL 4 7 13.5% }5E R RE
EEHE 1
4%k ([EEEEDOEE FTEFEXES 2 2 3.8% BB RAE
a5t 52 100.0%




